Time Enough for Joy

8. Make time
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Experience the anticipation of  Ad vent. Experience the joy of Christmas.
0 tuti
A ?
[ (o I FS
AN A A o
Y, o < - o @ =
Experience the anticipation of  Ad vent. Experience the joy of Christmas.
n fUt
l N 1242223 N iy
(o &o ) = F S— i r
(D < fo = ¢
¥ Experience the anticipation of  Ad vent. Experience the joy of Christmas.
tutti o
¢ —o 7] 7] P Z— -
/—¢ ¢
N Experience the anticipation of  Ad vent. Experience the joy of Christmas.
)
s —— - — -
[ fan) | é
) o - - — -
- 1
18 dim.
e = ==
Gt ~ - o o ¢ o oo
Q) L (>
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